#include <Servo.h>

Servo myservo;
Servo servol;
Servo servo4;

pos = 0;

buttonPin = 2;

switchPinl = 4;

LDRpin = AQ;
LDRValue = 0;
buttonState = 0;
switchStatel = 9;
sensorState = 0;
active = false;
activel = false;
active3d = false;

setup() {
myservo.attach(9);

servol.attach(3);
servo4.attach(8);
pinMode(2, INPUT_PULLUP);
pinMode(4, INPUT_PULLUP);
pinMode(7, INPUT_PULLUP);

Serial.begin(9609);

Loop() {
buttonState = digitalRead(buttonPin);

switchStatel = digitalRead(switchPinl);

LDRValue = analogRead(LDRpin);
Serial.println(LDRValue);




if (buttonState == false && active == false){

for (pos = @; pos <= 120; pos += 1) {

myservo.write(pos);

delay(0.5);

}
delay(1500);

for (pos = 120; pos >= 0; pos -= 1) {

myservo.write(pos);

delay(5);

active = true;

} else{
myservo.write(pos);

}
if (buttonState == true){

active = false;




if (switchStatel == false && activel == false){

for (pos = @; pos <= 150; pos += 1) {
servol.write(pos);
delay(0.5);

¥

delay(600);

for (pos = 150; pos >= 0; pos -= 1) {

servol.write(pos);
delay(15);

}

activel = true;

} else{
servol.write(pos);

}
if (switchStatel == true){

activel = false;




if (LDRValue < 200 && active3 == false){

for (pos = @; pos <= 120; pos += 1) {

servo4.write(pos);
delay(5);

¥
delay(600);
for (pos = 120; pos >= 0; pos -= 1) {

servo4.write(pos);
delay(15);

}

active3d = true;

} else{
servo4.write(pos);

}
if ( LDRValue > 300){

active3 = false;




